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Solving Sequence

\

! ’8 54’64’1,94’3*>24>7*>10H>01a06709

A knot diagra o e 8 3 C2 c7  Cio
Ideals for irreducible component#ﬂ)f Xpar
I =
(
Iy = (W +b, —v’+a—1, " +u’+u—1)
(

b—u—1, a+u, u> +u+1)

* 4 irreducible components of dim¢ = 0, with total 45 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(u3 —4udt+. . +2b—4, —6u>+17ud*+. . +2a+7, u36 —3u35+... —2u+1)

(i) Arc colorings

o ()

0
ag = \u
1
a5 = _u2
u? +1
ag = —u?
335 _ 17,34 4 .. 4 13 7
2 2
ap = (;u‘s‘r’ + 203 + Su+ 2)
—ud —2ud —u
ag =\ v’ +ud+u
R Ti INUPPPR Vg
az= \ Ly — 3 4. - Ly 4 3y
%u&:’ Byt g 3y ]
ay = \Ly35 — 34 4 Ly? 4 3y
—u
ar = \ud+u
2u — St 4+ Ty — 2
aio = (—3u35 —1—24u34 + - —2§u —1—22)
2 2
(ii) Obstruction class = —1
_ _ 13,35 34 11
(iii) Cusp Shapes = — 3 u?> + 18u’* +--- — Fu — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 O — 11w+ —du+1
c2,Co w3 —3uP 4 —du+1
C4, C7 w3+ 3u o 2u 1
Cs u® + 190 + o+ du+ 1
Cg, C10 w3l — 443 4+ — 48u+ 16
Cs u?® — 3u® 4 — 26u + 17




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c3 Y30+ 31y + -+ 196y + 1
€2, Cg YO+ 11y% 4y + 1
C4, C7 3O+ 19y - a1
cs g B 12y 41
6, €10 y*0 — 20y + - — 128y + 256
cg y30 — 21935 + ... 4 5682y + 289




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.387195 4 0.8598091
a= 0.864957 4 0.1094141

b = —0.0189081 + 0.09583321

—0.34130 — 1.657771

—2.55644 4 4.364951

u = —0.387195 — 0.8598091
0.864957 — 0.1094141

a =

b = —0.0189081 — 0.09583321

—0.34130 + 1.657771

—2.55644 — 4.364951

—0.729583 + 0.7775721
—1.03050 + 1.017251
0.317863 — 1.2746501

—1.45237 — 5.420601

—4.83818 + 6.674801

—0.729583 — 0.7775721
—1.03050 — 1.017251
0.317863 + 1.2746501

—1.45237 + 5.420601

—4.83818 — 6.674801

= 0.859716 + 0.2672481
= —0.901846 + 1.0603201
= 0.44242 — 1.518851

—4.44713 — 8.119711

—3.47630 + 5.347481

0.859716 — 0.2672481
= —0.901846 — 1.0603201
0.44242 + 1.518851

—4.44713 4 8.119711

—3.47630 — 5.347481

0.849597 + 0.2165561
0.853721 — 0.8528801
—0.173950 + 1.2397401

—5.28539 — 2.146621

—5.02569 + 0.442531

0.849597 — 0.2165561
0.853721 + 0.8528801
—0.173950 — 1.2397401

—5.28539 4 2.146621

—5.02569 — 0.442531

—0.551728 + 0.9877771
= —0.415426 — 1.1287601
0.676359 — 0.1935891

1.29309 — 3.125341

1.43285 + 2.167861

—0.551728 — 0.9877771
—0.415426 + 1.1287601

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a=
b= 10.676359 + 0.1935891

1.29309 + 3.125341

1.43285 — 2.167861




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.587634 + 0.5557871
= —0.996846 + 0.4341251
0.801082 — 0.0301501

2.54802 — 1.419821

3.82315 + 3.524651

—0.587634 — 0.5557871
—0.996846 — 0.4341251
0.801082 + 0.0301501

2.54802 + 1.419821

3.82315 — 3.524651

—0.424101 + 1.1303201
1.47023 + 1.055311
0.079663 + 1.2597901

—4.09621 — 1.052431

—6.63369 + 0.719791

—0.424101 — 1.1303207
1.47023 — 1.055311
0.079663 — 1.2597901

—4.09621 + 1.052431

—6.63369 — 0.719791

0.515700 + 1.1113901
—1.30481 + 0.959361
1.199870 + 0.5079681

—0.65138 + 7.272131

—2.75984 — 7.427861

0.515700 — 1.1113901
—1.30481 — 0.959361
1.199870 — 0.5079681

—0.65138 — 7.272131

—2.75984 + 7.427861

0.445924 + 1.1443901
0.761539 — 0.4518401
—0.595300 + 0.1573431

—4.74271 + 4.002951

—9.23293 — 4.019861

0.445924 — 1.1443901
0.761539 + 0.4518401
—0.595300 — 0.1573431

—4.74271 — 4.002951

—9.23293 + 4.019861

—0.471044 + 1.1345901
—1.37055 — 1.287461
0.30745 — 1.384451

—3.75883 — 6.781571

—5.67848 + 6.135871

= —0.471044 — 1.1345901
—1.37055 4 1.287461
0.30745 4 1.384451

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

—3.75883 + 6.781571

—5.67848 — 6.135871




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.024315 + 0.7683071
= 147731 — 0.093681
0.090892 — 0.6158721

—1.10226 — 1.385581

—6.76484 + 3.925201

—0.024315 — 0.7683071
= 1.47731 4 0.093681
0.090892 + 0.6158721

—1.10226 + 1.385581

—6.76484 — 3.925201

0.264173 + 1.2348701
0.373926 — 0.6227071
0.32517 — 1.564311

—9.31556 — 4.569041

—8.72559 + 2.826561

0.264173 — 1.2348701
0.373926 + 0.6227071
0.32517 4 1.564311

—9.31556 + 4.569041

—8.72559 — 2.826561

0.304638 + 1.2337901
= —0.105861 + 0.5696201
—0.119820 + 1.3835301

—9.88952 + 1.615241

—9.56754 — 2.327351

0.304638 — 1.2337901
—0.105861 — 0.5696201
—0.119820 — 1.3835301

—9.88952 — 1.615241

—9.56754 + 2.327351

0.636789 + 0.3028091
—1.62143 4 0.783511
1.017930 — 0.4162181

1.68165 — 2.754261

1.42028 + 4.132681

0.636789 — 0.3028091
—1.62143 — 0.783511
1.017930 + 0.4162181

1.68165 + 2.754261

1.42028 — 4.132681

0.549648 + 1.1888401
1.80307 — 0.330691
—0.278564 — 1.2545001

—8.19229 + 7.279451

—7.73458 — 3.930701

0.549648 — 1.1888401
= 1.80307 + 0.330691
= —0.278564 + 1.2545001

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

—8.19229 — 7.279451

—7.73458 + 3.930701




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.572738 + 1.1804301
= —1.98873 + 0.460371
= 0.48742 4 1.578601

—7.1856 + 13.38991

—6.02318 — 8.655551

= 0.572738 — 1.1804301
= —1.98873 — 0.460371
= 0.48742 — 1.578601

—7.1856 — 13.38991

—6.02318 + 8.655551

= 0.274519 + 0.6243721
= —2.10757 + 0.215781
= 0.635668 + 1.0388601

—0.04793 + 2.916911

—3.21123 — 0.656801

0.274519 — 0.6243721
—2.10757 — 0.215781
0.635668 — 1.0388601

—0.04793 — 2.916911

—3.21123 + 0.656801

—0.597841 + 0.0935851
= —0.261177 + 0.2451461
0.304766 + 1.1986501

—0.94199 + 2.630321

—1.44776 — 2.884891

—0.597841 — 0.0935851
= —0.261177 — 0.2451461
= 0.304766 — 1.1986501

—0.94199 — 2.630321

—1.44776 + 2.884891




IL I =(b+u,a+1, v* +u+1)

(i) Arc colorings

1
aq = O

o
=
o
w=(2)
o=

(

(

(

az =

a7 =

(ii) Obstruction class =1

(iii) Cusp Shapes = 8u +1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C
1,€2,C4 U2 Tu41
Cs5, C8
2
c3,C7,Cy u—u—+1
€6, €10 u?
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
2
C4,Cs5,C7 Y +y+1
g, Co
2
Ce6, C10 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape
u = —0.500000 + 0.8660257
a = —1.00000 —4.059771 | —3.00000 + 6.928201
b= 0.500000 — 0.8660251
u = —0.500000 — 0.8660251
a = —1.00000 4.059771 | —3.00000 — 6.928201

b= 0.500000 + 0.8660251
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Il I = (u?+ b, —u?+a—1, u>+u+u—1)

(i) Arc colorings
1
aq = O
ag —
as =

ag =

<
<
(2
o= (229
<
<
<
<

ag =
—ut —u? 41
a3 = u4
—uw+u+1
az = ut—u
—u
ar= \uyd+u
w4+u+1
a0 =\ —u3 —u? —u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 wW—2ut+3u -2 +u+1
€2, €4, C7 u’ +ud +u+ 1
cy
5 u® 4+ 2ut + 3ud + 20 +u—1
Cg, C10 (u + 1)5
s u’ +ud —2u? —u 42
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C3,C5 v’ +2y" +3y° +6y% + 5y — 1
C9,Cy4,C7 y5+2y4+3y3+2y2+y_1
cy
C6, C10 (y—1)°
Cs y5+2y4_y3_6y2+9y_4
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1C)

Cusp shape

u = —0.707729 + 0.8419551

b:

0.79199 — 1.191751
0.208008 + 1.1917501

—1.64493

—6.00000

0.707729 — 0.8419551
0.79199 + 1.191751
0.208008 — 1.1917501

—1.64493

—6.00000

0.389287 + 1.0706801
0.005198 + 0.8336011
0.994802 — 0.8336011

—1.64493

—6.00000

0.389287 — 1.0706801
0.005198 — 0.8336011
0.994802 + 0.8336011

—1.64493

—6.00000

0.636883
1.40562

b = —0.405620

—1.64493

—6.00000
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IV.I}=(b—u—1, a+u, u>*+u+1)

(i) Arc colorings

1
aq = O

ag —
as =

(
(

e
o= (i)
(

(
(
(

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C
1,€2,C4 U2 Tu41
Cs5, C8
2
c3,C7,Cy u—u—+1
€6, €10 u?
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
2
C4,Cs5,C7 Y +y+1
g, Co
2
Ce6, C10 Y

19



(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—=1(vol + y/=1CS) | Cusp shape
u = —0.500000 + 0.8660251
a = 0.500000 — 0.8660251 0 0
b= 0.500000 + 0.8660251
u = —0.500000 — 0.8660251
a = 0.500000 + 0.8660251 0 0

b= 0.500000 — 0.8660251
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V. u-Polynomials

Crossings u-Polynomials at each crossing
1 (W +u+1)H) (W —2u* 4+ +u+ 1) = 11u® + - —du+1)
€2 (u? +u+ D)W’ +ud +u+1)(w® —3u 4 —du+1)
€3 (W —u+ 1)) —2u* 4+ +u+ 1) —11u® + - —du+1)
C4 (W +u+ 1)) (W +u? +u+ 1) (W +3u®® + -+ 2u+ 1)
€5 (W +u+ 1)) (W +2u + -+ u— 1) + 196 -+ du + 1)
Ce €10 ut(u+ 1) (w3 — 4u® + ... — 48u + 16)
€7 (u? —u+ D)W’ +ud +u+1)(w® +3u® 4+ 2u+1)
Cs (u? +u+ D)W’ +u® —2u? —u+2)(u® —3u®® + - — 26u +17)
9 (u? —u+ D)W’ +ud +u+1)(u® = 3u® 4 —4u+1)
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1. s (12 +y+1)%(y° + 20 + 3% + 6y% + 5y — 1)
(Y0 +31y% + -+ 196y + 1)
Ca, C (P +y+ D)@ +2 + - +y - D+ 11y + - 4y + 1)
ca5 €1 (P H+y+ D)@ +2y + - +y =D+ 1993 + -+ 4y +1)
% (P +y+ D) +20" +- +5y = D™ =y +-- =12y + 1)
C6, €10 vty — 1)° (%% — 20y%° 4 - — 128y + 256)
cs W +y+ 17 +20" —y° —6y° + 9y — 4)

] (y36 — 21y + .-+ + 5682y + 289)
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